ERRATA
Fluid Mechanics — A Problem Solving Approach by Uddin (CRC Press)

Pg 8:

_(ov) _-1fop
ﬂ_(aT ] p(aij

Should be corrected as

v (V)Y _Afdp
ﬂ‘v(aT)p p(aij

Pg 15,Ex 1.3
The final solution is printed as
m
WU m—+1
Trz r=r, — P
- m
Should Iqe corrected as
m+1\"
( _ 1 )”’J' w Uoﬁ‘l o
m

1= m

ro

Pg 52: In Example 2.8
The length of the inclined surface is 0.5 m and the width is 0.6 m.
Should be corrected as

The length of the inclined surface is 0.6 m and the width is 0.5 m.

Pg 53: In Example 2.8

IX.IL‘
ZR = Zren + T =143 m

Should be corrected as




I.T:.i'e’ﬂ

XR = Xcen T+ A
Ieen ”

Pg 65 Ex 3.2

V =1/16y2 + 22 — 14x + 49+ 922

At origin (x =y =z =), we have V="1.

At y-axis (x =z = (), we have:

V =/ 16y2 + 80y + 149

Correct is

JA.x 416" +9.27 —28.x 4 80.y + 149.

12.20655562

Pg 72
Example A velocity field in fluid is given by:
V =307+ 30 + (32 + 40k

Find

(1) magnitude and direction of u, v, and w velocity components

(11) vorticity vector

Add in question statement

At x=3.6666,y=1,z=1.

Pg 75




X
Yy = Yp€Xp

The equation
Has derivational error

Correction:

d
X3t + 1)dt
X

Integrating both sides:

(%25 fos v

3.
lnx=§r3+3r+::.

3
x(f) = Giexp (jfz + 31‘)
Similarly, for y(t) :

v=ﬂ=3g{r—1) = ﬂ=

3y(t—1
dt gr ==
Separating the variables:
dy _ 3(t—1)dt

Integrating both sides:

f%zB[{f—de

lng=§12—3f+f;g

y(t) = Gexp (%rz - 3?)

In (—) +1
Xp

Applying the initial condition (x,, y,) at t =0

X(0)=Xp=flexp(%><02+3><0) > G=x

3 ]
y(0) =y, = Gexp (5 x 07 =3 xo) =G=y,
Therefore, the trajectory equations are:

x(t) = x, exp (;tz + 3?)

3.
y(t) = ypexp (gf‘* - 3f)

Pg 91

If we consider incompressible flow then density will be removed from this equa-

tion, and the equation will reduced to form:
V(V)=0

Should be corrected as




VV

Pg 195:

)= (45 ) P

The substitution f is introduced to make the analysis simple:

Should be corrected as

u :E(hz—yz)

2
Pg 201:
__dPr’ dPr, (8.5)
dz4u dx 4u

This equation should be read as

y _dP r* dpPr,
dz 4u dz 4u

Pg 278
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Figure 30: K factor for sudden Enlargement for A, > A;.

Correction: In plot abscissa is Ai/A..

Pg 379

~ —ca
sin os(m )

The correct is

Since at x=nt/2, n=a

Ao —ca
sinh(mh)sin(mz /2)
—_—

1

Pg 385




oy
W =

dz
Should be taken as

oy
OX

W =

Pg 385
The stream function we have already defined as:

W (x.n) = cn +Asinh (mh+ mn)sin (mx)
Should be read as
w(x,z)=c-z+A-sinh(m-h+m-z )-sin(m (x —c t))

Pg 417:
The speed of sound or the posted speed is the speed at which an infinite chasm of a small
pressure wave travels in the matter

Correct: The speed of sound or the acoustic speed is the speed at which a small pressure
wave travels in the matter

Pg 425

Figure 16.5 The movement of a military aircraft at a speed hishesthen the acoustic
speed. close to

u, far greater than the speed at which the sphere is moving in the medium. The f3 is
the cone half angle in a 2D plane. Note that the type of shockwave that is formed
is an oblique shockwave. Figure 16.5 shows the movement of a military aircraft at a

speed highesthan the acoustic speed.
approaching




